Torsion in Shafts Question 5-25 Solution

Saturday, 8 March, 2025 06:30 PM

¢5-25. The copper pipe has an outer diameter of 2.50 in. and an inner diameter of 2.30 in. If it
is tightly secured to the wall at C and it is subjected to the uniformly distributed torque along
its entire length, determine the absolute maximum shear stress in the pipe. Discuss the validity

of this result.

»5-25. The copper pipe has an outer diameter of 2.50 in.
and an inner diameter of 2.30 in. If it is tightly secured to
the wall at C and it is subjected to the uniformly distributed
torque along its entire length. determine the absolute
maximum shear stress in the pipe. Discuss the validity of

this result.
We lomndw
T 1 ‘f = ﬁXT T ik In
R = — teina Toszue .
nTT 7 gl e

KQA)?MJ R LT conspant, [ LT

K Zz 1=0°
5\ —
=) ‘R”ngx ZD_ -

125 1b-ft /ft
¥

Jul. ,

:>Twmt: 2b6-u2 Ih- 4+
Ly
= "EW‘%. j Tman
25
_ oxie
- Y 2bo-Yo
\1

i{% 23\ 4
L Qxxzz) B iﬁ)

_ 51119123 3b) fiF

Question Bank Page 1



This problem was solved by Civil Thinking (https://civilthinking.com)
If you need solutions for Strength of Materials or any
other Civil Engineering subject, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions

Other Subjects We Cover:

Structural Analysis

Fluid Mechanics

Geotechnical Engineering

Transportation Engineering

Construction Management

Finite Element Analysis (FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit)
Let us help you solve your engineering challenges! &

Question Bank Page 2



